23 22 o

2
LEAQII_SVC

OF BOARD

PROPRIETARY NOTICE:

NOTE CLOCK ING
(AL IGNED
WITH NOTCH IN

MOUNTING PLATE)

FOR SERVICE
REFERENCE ONLY

2l 3 |PCB_SUPPORT_SCREW_MOUNT 90702383EF | SUPPORT,CURCUIT BOARD, SCREW MOUNT
20 4 [T7307 90702381 STANDOFF, 12.70.50] HEX, L=43.4301.71]
19 4 | SCREWMBACI6SSP 91100816 SCREW,M8 SOCKET CAP 16 S W/PATCH
18 4 | SCREWMSAF 1082 91540510 SCREW,M5 SOCKET CSNK FLAT 10 BZ
17 4 |SCREW_CAPTIVE_SQUTHCO_BLACK 90712011 SCREW,CAPTIVE,PHIL .125 PANEL,BLK WO/WSHR
16 12 [SCREW6-32HH250 _TAPTITE.$Z 90710018 SCREW,6-32,3/16 HEX, 1/4L,THD FRM,NO SLOT
15 20 |SCREW6-19PPB0250BZ 90709123 SCREW.6-19 PHIL PAN 1/4 SZ PLASTITE
14 3 [LEIOT 90701391 RETAINER,LENS ARRAY,QUTER,STPX
13 | [LEI06 90701390 RETAINER, LENS ARRAY,CENTER, STPX
12 4 |RETAINER_CAPTIVE_SS 90701362 RETAINER,CAPTIVE,SS, MED
I I |LEI02 99080353 PLATE,MOUNTING,DRIVER BOARD,STPX
10 | [LEAOO8 80110064 PLATE, ASM, HEATS INK, STPX
9 61 |[TWS41 9909007TEF  |LENS,PROLIGHT LED 45 DEGREE DIFFUSION
8 T |LEA4S5T 99310504 LABEL.CABLE COVER,STPX
1 | |LE209 99220048 COVER, FRONT, STPX
6 | |LE209_RPM_REV2 99220048 COVER, FRONT, MEA8
5 3 |TZ_16CONDUCTOR_FFC4 90409319EF |[CABLE,FFC 7 IN X 16 SAME SIDE CONTACTS
4 9 |TZ.26CONDUCTOR_FFC3 90409318EF  |CABLE,FFC 6 IN X 26 SAME SIDE CONTACTS
3 | |LE425 80060034EF |BOARD,21 LED STUDIOPIX ASSY (120 DEG)
2 2 |LEA426 80060032EF  |BOARD, 20 LED STUDIOPIX ASSY (120 DEG)
| 3 |T7429 80060026EF |BOARD, RGB LED CONTROL ASSY

ITEM NO.| OTY FILENAME PART NO DESCRIPTION

BILL OF MATERIALS

THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC.,
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OR THE
INFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND WILL UPON COMPLETION

OF THE NEED TO RETAIN THE DOCUMENT, OR UPON DEMAND, RETURN THE DOCUMENT WITHOUT RETAINING ANY OF THE INFORMATION CONTAINED THEREIN IN ANY FORM WHATSOEVER
70 T H 0 S 8 M 13

g 3 T

UNLESS OTHERWISE SPECIF IED|RELEASE DATE: CE. High €nd 2105 GRACY FARMS LANE
DIMENS IONAL TOLERANCES: | ENG: 0A z il R
O PLACE DECIMAL = £0-38 [ME- = FAX (512) 832-4128  LIGHTWAVE
2 PUACE DECIMALS =£0'13 [MFG: DRW- ivavens® bitp://wm.highend,con RESEARCHa
ANGLES = £0.5 DESCRIPTION
FOR PAINTED PARTS RerER To|HEAD, ASM, STUDIOPIX
ENG. SPEC. MANUAL WI-0592 [warewiar e
ALL COMPONENTS, NATERIALS AND | CHARTED NONE
FINISHES TO BE RoHS COMPLIANT
[ww ot ] | INTERPRET DIMENSIONS PER S| [ ORAVING NO. ey
(ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE MIN. RADII ASME Y14.5M-1994
s THIRD ANGLE PROJECTION wrwe |80450099 [LEAOTT_SVC
VOLUNE DIMENSIONS ARE IN NiLLIMETERS| AT oo orson [SCALE: 0.375 [SHEET: 1 OF 1
R H T




